


Main frame Host head

Seat cushion assembly Mobile phone support frame

Pedal left/right Power adapter

Instruction manua

Rubber limit buckle

Screw 
M10*45*4pcs

Screw 
M6*8*2pcs

Screw 
ST4.2*16*4pcs



Step 1

Place the host head in the corresponding position on the 
wooden frame and secure it with the corresponding screws.

Half round head hex socket screw M10*45

Host head

Seat cushion assembly

Rubber limit block

Cross pan head tapping screw ST4.2*16



Step 3

Fix the left and right pedal components onto the host head
 with corresponding screws

Step 4

Insert the phone holder into the circular ball head and tighten the 
threaded plastic buckle to secure it.Then insert the power supply.

Left foot pedal

Right foot pedal

Half round head hex socket screw M6*8



SPEED SPEEDKm/H



21 27


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

